i 3
<My
80 ™0

1<

> |

n

Him
(i
<k

00

[m)

60
dr

J

"Made in Germany"2| EAFS| Ef
O| %|CH 1000Ct ALO| 22

2rL| T

BHE

K0
wr

KI

> Alg|

CLIEY]

LIXX

[ ] [} [} [} { ] [ ]
[ ] [ ] [} [} [} { ] [ ]
[} [} [} { ] [ ]
=
m_.\
~
K-
@_
il =0
ju u =0
ul = K i
mH £ ok W
i | m RO E3 Hu ok
uloul FI_ R I
= = R | o 1o
.M. .M. <l ol m Klo <l
Wk ¥ g T N F 3
N ) gl - o wl [E] o

_—

T
o

B
Kr
oK

il

www.zimmer-group.com » CiO|E, =M 3D 2H =



> 2 HA|

Jl0|E BE

- FF ANt AY AZE

» 7|= diolE

A
fu

SELE [EE T 23 P
Ad| 37] [mm] [N] [N] [kg]
20-50 80-100 80 0,05-0,1 IP54
15-90 200-270 200 0,05-0,1 IP54
40-300 270-450 270 0,05-0,3 P54
50-300 950 950 0,03-0,2 P54

2 Z:www.zimmergroup.com. 7|2 SER2= HES ASIA= MBS F=2H=
HEE= 0oy, =M, 3D 2E, ASdYME 24 + YU #WED ot =

Oolef, =™,3D 24 X3 3 &5 4HA <« www.zimmer-group.com 3



M8 Al
LI30-60 / LI30-90

> HE

ok

B
ollLixl 23 é @ #H74/7|Et
DRVM5X4 HV30
MBI AZEXMIAWE 257 8558
PHE10X10NMDE-A

=T 0 D=

A 8 HIH PowerStop

KAG500
M AolE5m- 27 M8

il

HI1A

[N

NJ12-E2S
OIHE|IE 2F AQIX -2 M8
| -

KAW500
2194, 24 AolE5m-2% M8

NEAVEAY

AP30
of e} T
ZE20H7X4
MEE CjA3
AD-M10X1
x| g

www.zimmer-group.com » CiO|E, = 3D 2 =& U HSHTAM



> 71& olofE
L130-60

g4 2S5 L [oar]
A AS2E [°C]
O HS 2% [°C]
AtO| 2 & H2IH 21| [cme]

FA [kg]

Z|CH SH5 Fa[N]
Z O 2 A[mm]

60
270
200
[s] 0.25
6

5
+80
50
0.47

30
0.05

LI30-90
90

270
200
0.26

+80
92
0.58

20
0.05

25

25
‘\
®

@ef/(b/fﬁélx M5

DIN912*

% 2><M5@

@1 Ox M5x7

87/117
71/101

L2S

+
163/223

<—> 60
<+ 90

®3x M5x8

25

-

e
34 2><M12x1® ®2X 207x2
27 o

i

225

25

@]

|
]
2

s

N

25_.10,

22.5

47

25

72

I

s

{444444444444

&)
©
=}

(@RS nk=|

OF:E]

QofzaAo0lM 1Y HA|
@®OlHE Z80|E 1 x|
@Hv EHx 1 FHA|

@ olLAoljo|HE +28
® 27 222EA)

® 27 225(=E)

T UXEAHHAM <« www.zimmer-group.com

3



